Algebra [ Semester 1 Study Guide MName:

1. Create a sequence that has a commeon difference of 3 Ll' __f ‘lD; "1.‘3)

Create a sequence that has 2 common difference of & ;‘ , %, ‘\\-"'J 2.0...

2. The table displavs the hourly rentzal cost of 2 bowlng lane. ..

Hours 1 4 2 i T 3 2 1
Ciost 3 —p 5 — | 7 —————— 3

explicit formula for arithinehc sequence :
Write aue;q:uressmutnmndel&im cost DfEnuhngaﬂernhmlrs"‘ Ocn= O, + (N=11(cL)
Ga=3¥(n-1(2) - .| Stter
R Ga=34+2(n-1> = = " m
3. The graph below shows the mumber l:nfCDs pnchas.ed and their total cost..

Determine the cost of the CDs when you M

purchase two, four and five CDs7

3 20,40,50% : |
v 23 ygs

4. Jermifer has a lemonade stand. She charges $1.25 for a glass of lemonade. It costs her $0.60
to make each glass of lemonade plus $15 a day for other expenses. Which equation can be used
to determine how many glasses of lemonade, g, Jennifer needs to sell each day i order to break

even? Inceme = € Xeenses
1,153 = D.b% 5



3. Jerry 1s trymg to find a landscaping service for las home. He finds two companies near him
that offer what he needs bg;_];m'e different mig;.d_

iy [, :j
He etz up the aquaﬁmf 455f + 325 ni: E.Eﬂf + 45.00 ; find out after how many|square feet,

e companies will charge the same amount. What 15 th the per square feet costs
or the two companies? € v o

4.ss
-3.¥0

¥0.75

6. UPS charges $7 flat fee and $0.20 for each additional pound. FedEx charges $5 flat fee and
$0.30 for each additional pound. How many pounds will it take for UPS and FedEx to cost the

|

same? UPS =fed EX 95 = .lo%
1+0.20XF S+0.39X - 1o
"_O_._ZOX —0.20% ’
1 #S +aox 20 = X
il -S _ 20 pounds
7. How many solufions do the follgagne equations have?
o Or+3r-10433x + ) \2x—10= 12%
Selmg s = =" A Y. — 12X
&\l vorlables 19 X0 TAK+EX —10 = O fuse
- 'U'ﬂ-l" .
concal . -3a+1|:r (5 — 4a) No Selvtion
—Hrue - '."|. -.D— Yrua
—False * ﬁ ﬂ: A \T\Fintee'l} meny Sol-hens
-Ul-rilUfi dﬂn‘i' x-432+6
k=l 2%+ 6 2x-lb=b
el 2x 2% A Selotien

5. Solve the following for the given vanable:
wt|ad

s ikl e
m-a Solve 6w + 12d = 36 for d. \:d = 3l -
qhﬂ Ei_‘\

- S = =
= . e
::g-,:ﬂ—l_gg. Solve 4h + 16a=132 for b d= 3 =
= ?-‘-!-au

" 9 ‘F.'hatlslsnlmﬂnnfthemﬂquahhj 43*‘-:111..”' -4, -3_@

\E you ﬂr brdm .;gq __,, w2 =2

“E&H;L'J? i 2 oiution of the maquahé ﬁ_ 33;? 1*:5 .S

xhe ‘lnﬂq]Uﬁ-ll g SO ié

What is a solution to the inequality 2(x + 3) <8(x—-4)7 6, 7(8) -,{-:—'5

:%;n.-v; 10<< 'a";r.— =1 —lewt. = =41
=gX - ~
=¥ ¥ 10 *-'-' —5; /



10. Two rival cleaning companies charge to dust houses. Captain Dustsalot charges $20 per
house call plus $12 per room, znd Dedusters charges $30 per house call plus $10 per room.

Abizail wants to kmow howagany rooms she mmst get dusted so that n Dustealot 15
expensive than Deduste - howing Captain Dustsalot is more expensive
than Dedusters. CLO 2 D4

204 1AY > 304+ 100

11. Graph the followmng mequalities 4=x=4 " @ . »

B | 4
2ex=] ‘ y e I
Dex=3 p R -7
- 4 ——— —P
-2 S
o el feeast _ﬂ_;;glz_.ié' Soling Bes. Velve =
|%-3\ = & e gatr ales.Valuw alena
\ \=% (spit it
1.51% x-3 =& Vxos = e i L ~ _5? vp)
+3 S+3 *+3 +3 \\= & \\=-=#

g:.}s_ » +her Solue



Unit 2 Final Exam Review

13. Function or not a function? Explam why...

_2185}:-512]} ,95_,l.=]= % do’sn’'t T-E.Pa.r-‘{'.
20, 9

.GR.C21 Neo,ble X Yepeats.
» :‘?{:\ rmoles ?
Bl At VLT)

14, The function that describes a sequence iz f(x) = 12.3 — 2.6x. What iz f{4)?

43(;)= 12.3-2.6(4) = 1.4

Puginfer X (Calc =+ STo)
15. The graph shows the distance Tom traveled in his race.

Anzwer True or False for the following questions:

Tom ran 5 Km over the first 30 mins of the race i
After 60 minz, Tom had run 7 km E

Tom was 10 Em from the start after 120 minutes E
Over hiz 163 minute ron, Tom ran 14 km 5

(S SRR, . Y.
L L L L Il L Il

Distonce from Start (km)

30 60 90 120 150

’]*lﬂl Time {minutes)




only (2,10 wminvalue = A
1§ Use a graphing calculator to graph the function v = x° — 4x + 5. What is the minimum

value of the function?
enyer funchion \Grsen) LﬁM
wdlcale) | 3 } +han \eFHd right bound i

17. A bowling alley charges $2.00 for shoe rentai'cand $3.00 per game bowled. The cost for x
games bowled is gﬂen by the function f{x) = £ + 3x. What is a reasonable domain and range?

D= £0,1,2,2...7T = { &\ Whelza #*57}
A= ii!ﬁ-s,”v-} \
18. The function h(t) = —10t* + 48t + 10 represents the height of an arrow shot through the

air from an initial height

ol racl ¥ (R
f.-3,-2,-1,0,1,2,3..3 integers
§fo0,1,2,%...% whele
{_ 1,2, 3J‘+,..-g ﬂa.’cu!’“f-.lz_

Haight [Ft]

Time {sec) T o
&"U'\J‘
Approximately how long will the arrow be in the air? 5 Soc

Transforming Grephs

19, Thus 1z the graph of f( 1 |x|- -— ( X 4 £ ,‘) 4+ ’L" a
i m\? Jna)tn 5 rg[-'—]:;,-l-; wer
: = P i K—aHIE
T el
I 1o
Graph - e e - [ i -
a glx)=Ixl—4 L e =
b. h(x)=|x+2|
ek 2 S




20. The table represents BELﬂE:ﬂI ﬁm-::tinaa, St 5'#{:-6_

'I"I"I—'-Bﬁ-gl x ¥
o =%, 3 16
mel0—\b_ | 7 10 o~ = -3
-5 10 1 D \Y4=-lo
14 -
T - 3 = w G-l - -3 .y
- e
What iz the value of a? a -l = =1
+1 4\
a = =\

— XY
21. The graph of ald:rect variation\function passes through the pomnt (&, 67). What 15 the

constant of variation for this function? b . \{ n){_
divect Vasiation : y =KX L= K z
ind ifﬂﬁ'—\' Variaton : B = l:a- -E

¥= &1 v %.375
1

22 The cost for renting tables at a local flea market i3 shown on the graph

(10, LS) .
(29,100) 2s0[ "
How much will it cost to rent 22 tables? ¢ j:"; G". 2- 'lfﬂﬂ'ﬂ??lr
"= \D0 -0 -Lo = 1o - :Eiig e
20-10 e j _\,‘5=hn:r{+"u
Roic- 5\0.(1 Forin § i = :i.—an;md Form
& 8o Ky =
beposite — io S o
o - - Alﬁ;{- aEre
'\:ﬁ-hn [aS ('.:i-lc> N Mumber of Tables “3 tﬂkaef%
Y- b0 = H(-.jj'-"d—)-
D10 = 4% o = B0
23, What iz the inverse Df@zzx—?’.’ q" Rn.f! \hl.lﬂﬂw
o 'h I 2
fie) = 1 oF & funchion:
X52Y-7 .5u¥-ch‘5ﬁ.€,\1
+1t + « Solve ov Y

X+ 7 ;.I%L - '{;‘-‘(3‘-)



24. Thiz iz an arithmetic sequence. L. 4o
10,94 88, 82,76 n
L ey

Write a function that describes the sequence?

Jinstead of a. use £(n)
Common diffurence = a, — o,

n)= \0+ n‘%r- =0
= ‘E*-—é~hn +£t:j = £()= -0-bn¥l0b

=

25, Which 1= the EthiC-ﬂ, n slnpe-j'.ﬂterc?p-ffnrm, of the line graphed below?

i
1l

e
_y
=3 K *u

26. Write the equation of the line, in point-slope form, with a slope of -2 and passes through the
point (4, - 2).

Y+2=-2(x-4)

27. Line j passes through the points (6, —12)and (3, —11), while line k passes through (4, 13)
d (2,7). How would yvou describe the relationship between linesz j and k7

sppesiie rzeprocals, SO.
+ha \ires are

Pevpend itnlar
28. Enter the following data into a graphing calculator. ‘Fb.l‘dJ.'lE\a'? 5\&"‘\2— S lopes fdjﬁi j
(32, 55), (73, 28), (80, 14), (48, 36) (19, 66) ‘?ﬂf?‘-ﬂ 1CU\G Qg'ﬂﬁl“ﬂ-
'51‘-"@;'. E'd'jf; XL, + 5 La R rn

ek, & cdlc, LI-LUn'REﬂ}

What 15 the equation of the line of best fit? Round yvour answer to the nearest hundredth.

N=-0.16X +78. 4 |



 Bolve the system by graphing. {

x+y=-—2
y=%x=7 -

31. Tell whether the ordered pair 15 a solubion of the gwens_‘,fstem_

2y = 14 2\-2
{ﬁ\\Jisx ;_sz -*51,(;\, ‘l.""'-;k ):

'H"\E-Fbr' e 0
KR e 2> .'-F NJ
&nawer: (1 ,—2'.) Substihution i::“ {est
32, Solve usmg substifution —Whﬂ Y= -
—wzis=7 5, .,r.u'b Ahis leko u.\-l-..-.r- -

3:}"':—2}_?
[x+3 '==5

1S HS o auk A vasisble

-‘I-"'-f_ _:\-Lli _%:-—" 3 fﬂfb -"lﬂpﬁ “ﬂ-l'.u Inh
EE.’B‘E!-\;-E ! w= ;tﬂ ‘:; dtln o
3(-3Y-5)-2y=7), 1 :u; ?‘* N raee
SaN-i5 -2y ALk 3{ .

Earla Eemcmuurkmammsc]nﬂlmgstnm They aamn:nnmmsmnﬁ‘nmeachsmtand
ean:hpan‘nfshnestheys&]l Fnrs&]lngsmtsandnﬂepaJrnfshnes Carla has eamed 347
commizsion. For selling seven suits and two pairs of shoes, Benicio has eamed $107 m
mmmissicm_Hnwmuchdnﬂlesa]espmpleemnfurthesaleuf How much do they eam

for the sale of a parr o

202Ny =4)

E\imi

| mac TE % o7

eliminate ©° 1 Yhey

\ L‘?"ﬁ\. "‘"1‘)' = Iﬂ"'j) elim . Yoy cdhongine,
_— -y
2. \F net | e 1 BeTH
~lX =94 eqps ( Fiip —Flep
XY = 1077 Leakfidi enty)
- " 3. 'E-"'-'-M- K ow ~'I'
A= .
! } ;gﬁwrtf‘ u‘ﬁ;'u‘;t
24 + N = %"i ¢, Sue s UIJIIJ-A.
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b ¥ v
S. (%, 45
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